6. No ociete 0T €xel otabepn Tiun 1 TopdoToc:

nu’(w—x) + ovv(n — x)cuv(2n — X) + 2nu° [g —~ x).

nu(m — x) = nux

ovv(m — x) = —ovvx

ovv(2T —x) = ovv(—x) = ovvx

nu (g — x) = oUVX

Apa:

nu*(m — x) + ovv(mw — x) ovv(2mw —x) + 2nu? G - x) =

= nu*x + (—ovvx)ovvx + 20Vv4x =

= Nu*x — oVuv4x + 20Vvex = nuix + ovvix =1



B OMAAAY

1. No vroAoyicete TV TIuN TG TOPACTACTC:

nu495’ -cuvl20” + cuv495° - cuv(-120)
e@(—120") + £p495° '

495 = 360 + 135, apa:

ovv495° = ouv135° = ovv(180° — 45°) = —gvv45° = _g
4959 = —1

ovv120° = ovv(180° — 60°) = —ovv60° = _%
ovv(—120°) = —ovv120° =%

ep(—120°) = V3

Onote €XOUUE:

V2 (1 V2 1
nu495° - ovv120° + ovv495° - ouv(-120°) 2 (_ 2) T\ 72 (_ 2)

£ (—120°) + £¢495° V3 -1
—/2 V2
_+_
V3i—-1  V3-1

[1a TO €TTOMEVO pABNnua: doknon B2 (oeA 71)



